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INSTRUCTIONS FOR THE CANDIDATES :

1. The OMR Answer Sheet is inside this Test Booklet.
When you are directed to open the Test Booklet,
take out the Answer Sheet and fill in the particulars
carefully with blue/black ball point pen only.

2. The test is of three hours duration and consists
of 180 questions. Each question carries one mark.
There is no negative marking,

3. Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses in the
Answer Sheet. The candidate should remain careful
in handling the question paper and in marking the
answers on the answer sheet. Another booklet set
will not be given. : _

4. Also ensure that your Test Booklet Serial No. and
Answer Sheet Serial No. are the same. In case of
discrepancy, " the candidate should immediately
report the matter to the Invigilator for replacement
of both the Test Booklet and the Answer Sheet.

5. This Test has three Parts :

Part-1 :Mental Ability Test (MAT) (Q.1t0 Q. 50)
Part-1l : Language Test (Hindi/English) (Q. 51 to Q. 90)
Part-Ill : Scholastic Aptitude Test (SAT)  (Q. 91 to Q. 180)

6. Since the time allotted to the three parts of this
question-paper is very limited, you should make
the best use of it by not spending too much time on
any question.
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Note : Read other remaining instructions given on the
last page of this Booklet.
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PART -1

(wmT-1)

MENTAL ABILITY TEST

ifs® Qrrgar e

\Questions : 1 to 50

1. Which one set of letters when
sequentially placed at the gaps in the
given letter series shall complete it ?

—_abb,aa__c,__ad__aae
(1) acade
(2) acede
(3) bebde
(4) babce

2, What is the product of all the
numbers in the dial of a telephone ?

(1) 0
(2) 159480
(3) 159450
(4) 158480

3. In the following question, number of
letters skipped in between adjacent
letters in the series decreases one

each time. Which of the following
series observes the rule ?

(1) MSYBG
@ IMTXB
(3) BHNSV

(4) TZEIL

HSTS/Nov.-2014

__abb,aa__¢,_ ad__  aae
(1) acade
(2) acede
(3) bebde
(4) babce

. iEE & sw & R o oad s @

TS F 8 7
(1) 0

(2) 159480

(3) 159450

(4) 158480

(1) MSYBG
(2) IMTXB
(3 BHNSV
(4) TZEIL

P.T.O.
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A (4)

4. Some equations are solved on the 4, TH @ g e W:;Ef _l.
basis of certain system. On the same g [T T g gg o I EIEE” l
basis find the correct answer for the FqHIHT A8 IaC A :
unsolved equation.
a=85(20)5 : a=85(20)5
b =126 (24) 6 b=126(24) 6
c=175 (N 17 c=175(N17
(1) 26 ' . (1) 26
(2) 24 (2) 24
(3) 28 (3) 28
(4) 22 | @) 22

5. f[_]=12, \=15[]=6,"\=4, 5. a[J=12.\=15[]=6\_\=4 |

O =3, then ([ x_\)+[]="? O=s @ ([ ]x_\)+0="
(1) 8 K (1) 8
@ 10 @ 10
(3) 12 o EERCR
(4)114 _(4) 14
6. fA=2 R=5S=70=3andE=4, 6. EA=2 R=58=70=3 s
the sum of the letters of which word E=48, o 50 1= & ol &1 Jeel
will give the highest number ? _ SECRCIRE R
(1) OARS | @ oars
2 AERO 2) AERO
(3) SORE . (3 SORE
(4 ROAR - (4 ROAR

HSTS/Nov.-2014
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-7.. . ZEBRA can be written as 265218].

10.

Haw COBRA can be Written 7

(1) 1182153

(2) 3152181

(3) 31822151

(4) 302181

IfA=1, Z =26 and LATE = 38, what
is REBUT ?

(1) 65

(2) 64

(3) 67

(4) 66

. GROUP can be written as 32768 and

RESPECT as 2598514 then SECTOR
can be written as :

(1) 951472

(2) 942714

(3) 721495

(4) 212459

A clock only with dots marking 3, 6, 9
and 12 O'clock position has been kept
upside down in front of a mirror. A
person reads the time in the reflection
of the clock as 10:20. What is the

actual time ?
(1) 8:10 (2) 2:40

(3) 4:50 (4) 10:20

HSTS/Nov.-2014

(5)

——————

A

7. 3% ZEBRA 3 265218] 3 =3 =

10.

W F 2 A T 3z 7w 3 COBRA
B %4 T

(1) 1182153
(2) 3152181
(3) 31822151

(4) 302181

af‘:.a=1,z=2saﬁv_m'r£=3s.ﬁr
REBUT 71 2 ?

(1) 65
(Z) 64
(3) 67

(4) 66

GROUP # 32768 % =7 & fmy 71 53
2 7 RESPECT 3 2598514 % =9 -4
74 SECTOR #1 o 1 73 & -

(1) 951472
(2) 942714
(3) 721495
(4) 212459

wF 931 #, | @ 3497 3, 6, 9 37 12
T % P & £, o adw 3 Al
T @ AN 2 @ atm 98 %
o # 10:20 I FEEAT 21 T@
Farzd % anias 999 #an & 7

(1) 810 (2) 2:40

(3) 4:50 (4) 10:20

P.T.O.
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11. Ram is facing North-West. He turns in
clock wise direction by 90°, then 180° in
the anti-clock wise direction and then
another 90° in the same direction.
Which direction is he facing now ?

(1) South - West
(2) West
(3) South
(4) South - East

12. Ais B's brother, C is A's mother, D is
C's father, F is A's son. How is B
related to F's child ?

(1) Aunt
(2) Cousin
(3) Nephew

(4) Grandfather

13. There are five houses ABCDO in a
row. A is right side of B and left side
of C. O is the right side of A, B is
right of D. Which house is in the
middle ?
(1) O
(3) B

2 A
4 D

14. How many numbers

are there

between 18 to 160 which are divisible

by 17 but not by 4 ?
(1) 8 @) 7
@) 6 @ 5

HSTS/Nov.-2014 .

(6)

11.

12,

13.

14.

- G_‘._'T_qﬁa-q Eﬂ' Gﬁ-{%l:a_f’;
;E“Hﬁw%' Sad 180
90° W%Iﬁﬂﬁﬁa [ o IEH
e ol R 1 G R 7

(1) & - o
2) =

(3) <

(4) 2T - o

AB®H 9 C A AEE D, CH
R, F, A& @ & O 78 FoRa
BHF 3 g3 q 1 4 & !

(1) =

@ AT M

(3) Wit

(4) 2@

w G ¥ 99 5T ABCDO ¥| A, B 3

WA CF Al R1 0, AD a2, B,
D% W B 9% a3 B F-ar €

gy ¥ ¥ 7
(1o (2) A
(3) B (4) D

18%160%%&1@#@@&@%

W17 X RI ¥ A 4§ g o

(1) 8
3) 6

@ 17
4) 5
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15. Laxman went 15 kms to North then

16.

17.

he turned west and covered 10 kms.
Then he turned South and covered
5 kms. Finally turning to East he
covered 10 kms. In which direction he
is from his house ?

(1) East

(2) West

" (3) North

(4) South

Ais B's daughter, B is C's Mother, D
is C's brother. How is D related to A ?

(1) Father
(2) Grandfather

"~ {3) Brother

(4) Son

A statement is given followed by 4
assumptions. You have to decide

which one of the given assumptions is .

implicit in the given statement.
Statement : Poverty is the creation
of unscientific planning.

(1) Poverty leads

planning.

to unscientific

(2) Poverty is the
scientists.

creation of

(8) Poverty and learning of science
are interrelated.

(4) Poverty can be eradicated by
scientific planning,

HSTS/Nov.-2014

(7)

15.-

16.

17.

A

T 15 Bl oY i ol =, e aw
i SR g3 = elw 10 Rl T
I G, I8 U B gEr AN 5 Rl
AT A g @ A e gE ok
10 fft =1 7% TaEd fF o aE oo
WA RmRm e ?

)

(2) 9=y
(3) IWX
(4) afEor

ABRTNEB CHAFEID car
TR w TR D AT
Rear & 7
(1) R

(2) T

(3) 7§
ORRE]

I & IR R o ¥ Rwa e

. I g RY U ¥ s Profg g

t & Ru
ffea 21

mm:nﬁa‘laﬁwﬁ%ﬂwaﬁth%a

T FH § B S

(1) s A T 37 ooy &
(2) T df & 3 2

@ T AR R s o g
q Ty B

(4) dF A a T
- e oo w2 i

P.T.O.
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A

18. A statement is given followed by two

19.

conclusions A and B. You are to
decide which of the given conclusions
can be definitely drawn from the
given statements.

Statement : Tension is detrimental
to physical and mental health.

Conclusions :

(A) : To be healthy one should be free
from tension.

(B) : Mental health depends upon the
tension one experiences.

(1) Only (A) follows

(2) Only (B) follows

(3) Neither (A) nor (B) follows
(4) Both (A) and (B) follows

The figure above is a drawing of pile
of Blocks. When taken apart, how
many blocks would be there ?

(1) 110
(2) 115
(3) 125
(4) 75

HSTSJNW.-HI 14

(8)

19.

y, ot 11 A
7 e e 1
m-mmﬂwﬁmﬁﬂm
Py a1 AN & |
3 forg e A1 2
frepd :
(A):ﬂﬂﬁﬁmmmﬁﬂﬁm
gaa?man%ﬂl
(B):qmﬁﬁﬁﬁ?f"aﬁ‘%mﬂﬁ
F7A 2|

(1J'W(A)ﬁﬁﬂl%
(2) A (B) P &
@) 7 (&) 9 7 @) P 2
@) (&) AT @) I R 2

TR A H AR B TS
NG 2| AR T AT B RA
A, o I T B A ?

(1) 110 ' _

2 115

(3) 125

4 75
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(9) : ' A

2. 20,
3300*:8";:& t;iangles are there in the & & T ¥ foerd et ¥ 7
M 12 | M 12
@ 1 . | @n
(3) 10 | 3) 10
_(4} 08} (4) 08
Direction : (Q. 21 to 25) fder: (7. 21 & 25)
Select the missing number from the given | fwel &3 T A% a7 FAT/
response.- -
21. 4 3 11 9 ’15 6 21 4 B 1 9 15 6
YN
144 9801 ? .' _.144 9801 ?
(1) 2250 (1) 2250
(2) 1216 o _ 2) 1216
(3) 11036 | (3) 11036
(4) 8100 (4) 8100
HSTS/Nov.-2014 | | P.T.O."
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A (10)

22, 22. . 4
7 4 8 4 4 7 4 8 :
(1 12 (1) 12
(2) 14 ' (2) 14
3) 15 3) 15
4) 18 4) 18
N - &)
KR | "WEEK
6D 609 63 653
(1) 82 | : 1) 82
(2) 83 (2) 83
(3) 86 | ' ' 3) 86
(4) 96 | : @ 96
24, 0 42 7 24, 0 42 7
416 1»&?65 séa}m 19116 1)—@?'65 8 2
3 9 3 9
(1) 06 () 09 | (1) 06 (2) 09
3) 12 4) 18 , @) 12 (4) 18
25. '_ 25.
26 | 18 | 10 | - o 26 | 18 | 10
11| 9|7 1mlol|7
15| 4| 3 51| 4| 3
0] 61| °? | 10| 6| 2
) 4 ' M 4
(2) 2 2 2
@) 5 3) 5
4 6 (4 6

HSTS/Nov.-2014
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Direction : (Q. 26 1o 29)

In the fah’ou'ing figure rectangle, square,

. _ F= SR & amm, @ g 7 Bys #mn
circle’ and triangle Tepresents the regions of #7e, 713, 7 o7 TR 85 & wERRe
coal, copper, tin and aluminium respectively Fa &1 AT F e gv A= =5 # 77
On the basis of this figure answer the g -
following - .

— I — T
Rectangle '—bSquai‘e T 3
3 2
2 1 4
9 /Y Fm mds
Circle 6
— P
— Triangle
26. Which area produces copper and tin ? 26. -} ¥ ¥ w7 o IORT
g7
1) 1 @) 2 M 1 @ 2
3 3 (4) 4 3 3 ) 4
27. Which area produces tin and 27. I3 R F Py g e ispa iy tol
aluminium ? . B ® 7
(1) 5 (2) 6 (1 5 2) 6
3 7 (4) 8 @) 7 1 8
28. Which area produces all the four 28. 59 &3 ¥ = gWE B OIEET o
minerals ? 2?2
1) 8 @9 (1 8 2 9.
(3) 10 (4) 11 (3) 10 4) 11
29. Which area produces coal, copper and 29. ¥ &3 § T, T @ = S
tin but not aluminium ? 2t & ﬁ’TEI Q?{ﬁ'ﬁf—'m 78 ?
(1) 9 (2) 10 P 9 | (2) 10
(3) 11 4) 6 3 11 4) 6
HSTS/Nov.-2014 P.T.O.
—————————— —

(11)

FEeT : (3. 26 d29)
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A

30.

A dice is thrown 4 times and its four
different positions are given below.

What number is opposite 4 ?
(D
2

CIS IV

4) 6

o

[<]]

Direction : (@.31-32)
Fill in the 'blank box' indicated by question

marks (?)
31.
Bla|D|E|C
s 1)1 ]2 ]2
(1) 28 @) 9
3 7 (4) 24
82. c| E|B|D
24| 120 | 6 | 60 | ?
(1) 210 (2 310
(3) 410 (4) 510
33. Select the related letter from the

give;x alternatives :
EIGHTY : GIEYTH : : OUTPUT: ?
(1) UTOPTU
(2) UOTUPT
(3) TUOUTP
(4) TUOTUP

HSTS/Nov.-2014

(12)

G T G S
30 ;ﬁqﬁaﬂmm*ﬁa“ﬁ%‘?ﬂ
aﬁlﬂ-ﬁtﬂﬂé\‘ﬁ?

(n 1
@ 2
3) 5
(1) 6
A : (7. 31-32)
marﬁz%s#(?)?mﬁ’wwm?
82 Bla|D|E |C
41116252
(1 28 2 9
3 7 4 24
82. cTE | B|D]JF|
o4 120 6 | 60 | ?
(1) 210 @) 310
(3 410 (@) 510
38.

Ru W Reed ¥ § wetug R A

EIGHTY : GIEYTH : : OUTPUT : ?
(1) UTOPTU
(2) UOTUPT
(3) TUOUTP
(490 TUOTUP
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(13) A

34 A piece of paper is folded and 34. Fefofea o T q o ww
punched as shown below. From the Fif 5 HR R STIHT FrS r‘hg.ﬁr
given responses indicate how it will U9 T @R 3 9% IHH Fpf
appear when openeq : Hd E’@Tﬁ i
Question Figure : 97 Sl -

C Fo
Answer Figures : ITT HIPlATT -
M @ % W )
@) @ | @) (4)
ZNE

35. In this question which one of the 35. 39 9 ¥ -t GTFﬁfﬂ & T e
answer figures shall complete the STIGIT Q0 et ?
given question figure ?

Question Figure : T97 SFhY :

Answer Figures : . I HIFhAT

(1) @— @ @ @)

(3) *ﬂ (4) ) ‘ﬂ (4) '2
0

HSTS/Nov.-2014 - : P.T.O.
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y 14 [t
A (14)

36. Select the related figure from the 36. f;gm .
given alternatives: .

Al @.” Ol B |

(1) 8 (2)'-8 (1) 8 (2) 8

3) C} @ @ 3 C} 4) @

37. Which is different from the other 37. I IR A o= A Pt & BT

three responses ?

(1) 0 (2)

| o [[o|l @ % o+
|

3) )

H
]
O

]

1

1
]
o
|
1
—
(]
S

4 BE=0 -+

'HSTS/Nov.-2014
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(15) )

38. In which answer figure i the 38. T T I;He T o AT FiReT € -
question figure embedded ?
Question Figure :
A A
f
ST AT -
Answer Figures ; —
r
| ; (1) N , W
16 N | 2 ;
(2) | |
— —
, N y
NN : ‘R
o N o 1N AIAY
—_—— — —_—
39. In this question, among the four 39. 3 3= T IF = ozmed S %
answer figures which one can be P T e S S BT 5= T
formed from the cut out pieces given gﬁ AT I LY
in question figure ?
Question Figure: . s 5?@7% >

R R

Answer Figures : T I -
» XX X |

gi (2) (1)

X

NI @

5
o R 5 R

© HSTS/Nov.-2014 P.T.0.
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(16) -
40 i .

\t?::hlch ?f the answe, figure ig exactly 40. @ o A & T o 7 @ %‘m"
& € mirror Image of the question SRR A g wE ady Sl

gure when the irror is helq gt XY ? Gﬂiﬁﬁ'{ gt & & XY W KCIR
Question Figure ; , g9 MY :

XMy ) X vevewrrerervveer e Y
Answer Figureg ; ' I AP -

_—

[
o | 2=
L=

@ MM o | 2| @ MM
3 I A e |
@ 5 Z 4) | L\M\ | 3). g L\JM

(4)

41, Which one of the following words will

1. e & § 9-a1 = gy &
come fourth in the Dictionary ? ' 9 WE ® ST ? ‘

Propriety, 'Proposition, Prosecute, Propriety, Proposition, Prosecute,
Proposal, Prosody. Proposal, Prosody.
(1) Proposition (1) Proposition
(2) Prosody (2) Prosody
- (3) Proposal (3)" Proposal
(4) Prosecute 4) Prosecutg
Direction : (Q. 42 to 44) R - (7. 42 @ 44)
- Arrange the items in a meaningful order - =ittee 7af & A #4 2 Ty
~ 42. (1) Thread (2) Cotton (3) Soil (4) Cloth 42.

(D) 8P (2) F9E (3) Rredt (4) F91
(5) Fererst (6) ey

(1) 38,2,1,4,6,5
(2) 3,8, 2; L, 456
(3) 2,6,31,5 4
(4) 1,2,3,6,5,4

(5) Rag (6) Plant
(1) 3,2,1,4,6,5
(2 3,6,2,1,4,5
(3) 2,6,3,1,5,4
(4) 1,2,36 54
HSTS/Nov.-2014
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43. (1) Study (2) Books (3) Examination
(4) Student (5) Result

(1) 423, 1,5
(2) 4,2 1,3.5
(3) 2,1,43.5
4) 2,3,1,45
4. (1) Cure (2) Doctor (3) Disease
(4) Diagnosis (5) Medicine
1) 3,2, 4,51
2) 2,435, 1
(3) 43,251

4) 423,51

Direction : (Q. 45 1o 50)

A series is given with one term missing.
Choose the correct allernative from the given
ones that will complele the series :

45. B.D,F.LLP.?
(1 U
(2) R
3) S
49 T

46. 7,26, 63, 124, 215, 342, 7
(1) 481
(2) 511
3) 391
(4) 421

. HSTS/Nov.2014

A TR I
T

(17)

|

A
3. () 77T (2) T3 (3) T (4) BA
(3) 9°™
(1) 4,2.3,15
2) 4,2,1,3,5
(3) 2 1,4,3,5
(4) 23,1, 4,5
4. (1) FE (2 TR 3) T 4) PrA
(5) ity
(1) 3,2,4,5,1
csziaal
(3) 4,3,.2,5,1

4 42,351

P : (7. 45 3 50)
0F F779 Rt & Frrl @ oF w ga &1 aw
Rv m Bel 4 & 78 Ry g @t aged
&I F -
45. B,D,F,LLP,?

(1) U

(2 R

@) S

@T

46. 7,26, 63, 124, 215, 342, 7
(1) 481
(® 511
(3) 391
(9 421

P.T.O.
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o 064
’ | 7. W-144 7,5-100, Q-8L =
4 . -_— y
' 81, 0-64
47. W-144,?,8-100,Q R
—121
o ' @ U-122
U-122 |
X - 3) v-128
3) V-128 -
¥ ) U-121
(4) U-121
| 48. C, E, I, K, 0: Q: ?
48. CE,1LKO0,Q7? .
) R -
(O R b B
@ S
@ S
. 3 T
3) T
' @ U
@ U
I D??
49. ACBECGD?? 49. A_C.BE_CG
(1) HE (1). HE
@ EI (2 EI
| ' IE
(3 IE .1 3)
| ’ (4 FE ..
4) FE | | | | ‘
50. 1+3,6+3,13+3,22+3,7 © 50. }+3,6+3,13+3,22+3'? |
-; @ 33+3 @) 33+3
(3) 34+3 (.3) R
: (4) 43+3 (@) 43+3 ;
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(19) A
am e & g2 1 3 Fuig 10 ¥ w1 F1 RFE @@ 9% |

PART - II (9T - 11)
LANGUAGE TEST

5. TH & MU W a4 & -1 A7 53. @aum % fra agEm & wAr W

TR ? A9 41 7
(1) & arg (1) 299
(3) HYH g (3) 343
(4) 9gaTES G @ s
52. I AR AT A 7 R 7 54. ‘I ] F UG FE A B @A
. P 2 ?
(1) TR
(1) feari aft
(2) e :
(2) "erdr aut
(3) oM '
(3) #EE T=H
(4) .
(4) YW
' HSTS/Nov.-2014 ' P.T.O.
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A

56. g wE WM g A e e a6 -

56.

i frem Rrdt @ 7
(1) g e
(2) U Rie Rt

(3) A RO
(4) YA FAQ e

Rrf a7 A% oM & 9 o 21 o
¥ PH-91 P & °

) Iw
©) ©F
(3) I

(4) I

P - (7. 57 @ 60)

Ro o =t a7 = @yEl 7 @ 99 sy,

7 s % A qe o qo & -
57. FAT
(1) 7= 2 frda

(3) TR gt (4) HiERE

HSTS/Nov.-2014

(20)

59.

60.

(@ " R

(3) % BT

(4) BN B HEN

(1) 377 aofq
(2) 3T F o

3) I ¥ @

@ T g
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R

A7 (761 762)

FiET 77 & I6T 73 9y #

T F A A BN g9 W g
A %

(1y 79
(2) 9
3) TRETT

(4y 2%

q7A A A AgETE o I
gt 41 %

(1y Than
(zy #a
(% 40

(4y e

- HYTS/Nov-2014

-

(21)

@y : (7. 63 7 66)

far m [y el # f a0 ey

63, oA A A7 v o AN gl
7% Afadt A meafart & 6 3k [
77AE A %)

(1) a4
(2) @4
(3) #fog

(4) fagma:

64. wEAa Wi & fm ofraw =1 A #E

P.T.O.
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